I. Multiple Choice — ¥ i 4g (40 points; 2 points/question)

1. Compressing files will not reduce adisk ___ ?
(A) storage capacity (B) data transfer rate (C) access time (D) all of above

2. A memory unit is organized as a 8,192 x 1,024 two dimensional array. What is the size of MAR?
(A) 21 bits (B) 22 bits (C) 23 bits (D) 24 bits

3. Which program uses POP3? (A) NotePad (B) Illustrator (C) Photoshop (D) Windows Mail

4. Which of the following technique can increase their instruction throughput?
(A) pipeline (B) cache (C) SOC (D) none of the above

5. What is the size for 4 minutes song sampled 10,000 times per second with the bit depth of 16?
(A) 32 x 10° Bytes (B) 24 x 10> Bytes (C) 48 x 10°> Bytes (D) none of the above

6. Convert 12.3754 to its binary representation. (A) 1100.011 (B) 1100.101 (C) 1010.011 (D) 1010.101
7. Convert 123y, to its hexadecimal representation. (A) 7955 (B) 7A15 (C) 7By (D) 7Cy6
8. BIOS is usually stored in . (A) RAM (B) cache (C) ROM (D) hard disk

9. In a machine language instruction operation code takes 8 bits. What is the maximum number of distinct
operation codes that can be recognized and executed by the processor on this machine?
(A) 8 (B) 16 (C) 128 (D) 256

10. The system boots from . (A) MBR (B) FAT (C) root folder (D) sector

11. The is used to fetch, decode, and execute instructions.
(A) arithmetic/logic unit (ALU) (B) 1/0 controllers (C) memory (D) control unit

12. Which is used to locate a memory location? (A) decoder (B) multiplexor (C) cache (D) IR
13. is a freeware operating system. (A) Vista (B) Linux (C) Palm OS (D) Mac OS

14. In the topology, all nodes connected to a single shared communication line.
(A) star (B) bus (C) ring (D) helix

15. The of a disk is the time for the beginning of the desired sector to rotate under the read/write head.
(A) latency (B) transfer time (C) frequency (D) seek time

16. Which is a language for defining markup languages?
(A) HTML (B) HTTP (C) XSLT (D) XML
17. is a huge interconnected "network of networks”. (A) WAN (B) LAN (C) WWW (D) Internet

18. The layer protocol provides end-to-end connections.
(A) application (B) data link (C) transport (D) physical

19. Asymmetric DSL lines usually provide upload bandwidth than download.
(A) greater (B) more reliable (C) less (D) less reliable

20. AWeb client and server communicate through . (A) DNS (B) SMTP (C) HTTP (D) FTP
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main() {
inti=3, pid;
while(i > 0) {
if ((pid = fork()) > 0) {
printf("In parent %d.\n", i--);
}else {
printf("In child %d.\n", i);
exit(0);
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#include <iostream>
using std::cout;
int sub (int &a, int &b) {
a*=3;
cout<<"a="<<a<<" b="<<b<<"\n";
return --a * b++;
}
int sum(int n) {
if (n<2)return 1;
else return sum(n - 1) + sum(n - 2);
}
main() {
intx=4,y=3;
x = sub(y, y);
cout<<"x="<<x<<" y="<<y<<"\n"
X = sum(y);
cout << "x =" << x<<" y="<<y<<"\n"
}
2. (15%) 71t C % CHAzst s 5 ke — BARsY > v d 43y » 2 BlcE > R E A [ R
Bl kAR NS BlE o
3. (15%) 314 C &8 CH+AR; 3F 5 R3 - BAR:S - X 1% & B FOR & 3 & while £4F $1dp 4 » &
% Eg - BEF NI(F A 39LF) FENTa BR(T R 0=5):
1
212
32123
4321234
543212345
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w|4e  char string[20] = "book™; #% {7 strrev(string) & #icis € % = % "koob" -



